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JIE 132 K £ 1| 2 [GROSS| HDCP | NET | lE{sz K £ 1] 2 [ GROSS| HDCP | NET | liE{sz K £ 1 | 2 | GROSS| HDCP | NET | E{z K % 1] 2 [ GROSS| HDCP | NET
1 |RIE A 45 145 90 [20.4 169.6 || 51 |lug =i 45 |50 95 120.4 |74.6 ||101 |A& =E= b5 (47 102 125.2 | 76.8 |[151 | E FIE 40 |46 86 | 6.0 (80.0
2 |ARER EAKER 37 139 76 | 4.8 |71.2 || 52 |H¥F WA 46 |49 95 120.4 | 74.6 ||[102 |{&% iFsA 45 144 89 112.0 | 77.0 [[152 |5 AIE 44 148 92 112.0 | 80.0
3 |[\BXK =A 41 |41 82 110.8 | 71.2 || 53 |#a#k =i 44 144 88 [13.2 |174.8 {103 [ILE IE b5 152 107 [ 30.0 | 77.0 [|[153 [dL)IIl =B 42 150 92 112.0 | 80.0
4 | K¥E EE 40 |41 81 9.6 | 71.4 | 54 st 1EH 48 140 88 [ 13.2 174.8 {104 |hh [BF 57 |56 113 136.0 | 77.0 |[154 |JIllg I1EH 58 |58 116 |1 36.0 | 80.0
5 |/hE FHE 41 |45 86 [14.4 | 71.6 | 55 |Blf EAF 46 |48 94 119.2 | 74.8 || 105 |EN8F HEE 47 147 94 116.8 | 77.2 ||155 /MR Fik 50 |47 97 116.8 | 80.2
6 |5t & 41 |38 79 7.2 [71.8 || 56 [RXE M4&E 43 |44 87 [12.0 | 75.0 || 106 |FE#T & 52 (42 94 116.8 | 77.2 ||[156 |EA & 56 |47 103 1 22.8 | 80.2
1 |[#&E<K FE 39 140 79 7.2 [71.8 | 57 |[&HE& E1T 44 149 93 118.0 | 75.0 ||107 | B HRE 47 153 100 |1 22.8 | 77.2 |[157 |A% {&E&E b1 (52 103 1 22.8 | 80.2
8 |&HFAX E 49 147 96 | 24.0 | 72.0 || 58 |ER =Zx 49 150 99 [24.0 |1 75.0 [[108 |TEEE :3%— 54 (52 106 | 28.8 | 77.2 ||158 | Kk =HE 47 (56 103 | 22.8 | 80.2
9 |5f FX 50 |52 102 130.0 | 72.0 || 59 |#JIl &FF 54 |57 111 [ 36.0 | 75.0 [|109 A ®E=x 57 (49 106 | 28.8 | 77.2 |[159 |:zj& —2= 57 |58 115 1 34.8 | 80.2
10 5K =8 38 |38 76 | 3.6 | 72.4 || 60 i3+ HEX 39 [41 80| 4.8 ]75.2 (110 |J\EB & 52 |47 99 1 21.6 | 77.4 ||160 |FEHA =& 52 [56 108 | 27.6 | 80.4
11 |4t HF 46 |42 88 |115.6 | 72.4 || 61 |&hdf =FEif 44 142 86 [ 10.8 | 75.2 || 111 |&F% B&xX 49 150 99 | 21.6 | 77.4 ||[161 |EXKA —EB 44 145 89| 8.4 (80.6
12 |E%¥ ={E 43 145 88 115.6 | 72.4 || 62 |#&K EA 41 145 86 [ 10.8 | 75.2 || 112 |JIl#E BARX 54 (51 105 [ 27.6 | 77.4 ||162 | EH B 51 (48 99 118.0 | 81.0
13 |l EX 41 140 81 8.4 172.6| 63 |&%t ETl 47 145 92 116.8 | 75.2 ||[113 |#E@A F=& 52 |53 105 127.6 | 77.4 |[163 |luA B0 52 (59 111 1 30.0 | 81.0
14 WL & 40 140 80| 7.2 172.81| 64 [mgE & 43 149 92 116.8 | 75.2 ||[114 Ak XF 56 |55 111 133.6 | 77.4 |[164 |lLA HEBF 50 (48 98 |1 16.8 | 81.2
15 |y FE= 40 |45 85 [12.0 | 73.0 || 65 |[BAX THiA 47 145 92 116.8 | 75.2 |[115 |/n#w FiE 42 144 86 | 8.4 |77.6 ||165 | KFE ZH=H 45 |51 96 | 14.4 | 81.6
16 |BEA E2 44 141 85 112.0 | 73.0 || 66 |{FiE EA 50 (48 98 [22.8 175.2 (116 |hE {Ei# 46 |52 98 [20.4 | 77.6 |[166 |[HO IE{E 48 |54 102 1 20.4 | 81.6
17 |88 Ez# 46 |45 91 [18.0 | 73.0 || 67 | =EFF 46 |51 97 121.6 | 75.4 ||[117 |83 FA 47 |50 97 119.2 | 77.8 || 167 |{Rih%n ZEi b8 |56 114 1 32.4 | 81.6
18 |BEH BHE 44 147 91 [18.0 | 73.0 || 68 [Hh#f 4= 49 148 97 [21.6 | 75.4 |[118 |[f8 &EX 46 |57 103 [25.2 | 77.8 |[168 |BEA& HEOC 58 (56 114 1 32.4 | 81.6
19 |l &A& 46 |45 91 |18.0 | 73.0 || 69 | &HME 1& 47 150 97 | 21.6 | 75.4 || 119 |#3F BHX 51 (58 109 131.2 | 77.8 ||[169 |;EHA 5 53 |59 112 1 30.0 | 82.0
20 [fREE & 53 |56 109 136.0 | 73.0 || 70 |Hi& #& 56 |47 103 [ 27.6 | 75.4 [[120 | KBF iE— 41 143 84| 6.0 ]78.0 (170 |&=& ®Eh 50 |55 105 |1 22.8 | 82.2
21 |H¥F & 43 141 84 110.8 | 73.2 | 71 |&H@E lEF] 42 |42 84 | 8.4 1756|121 iFH AT 46 |56 102 124.0 | 78.0 |[171 |&=E@ A3A 57 |54 111 128.8 | 82.2
22 |BT RBx 47 143 90 [ 16.8 | 73.2 || 72 ¥ =4 42 142 84 | 8.4 1756|122 (LA B 49 |59 108 [30.0 | 78.0 [[172 |ZFEH & 54 {50 104 1 21.6 | 82.4
23 |HhF EA 41 149 90 | 16.8 | 73.2 || 73 |nE {&H 45 145 90 | 14.4 | 75.6 || 123 |{RFE {&EI2F 54 |54 108 [ 30.0 | 78.0 || 173 [uiks #FnEB 49 |54 103 120.4 | 82.6
24 |BE FX 45 144 89 [15.6 | 73.4 || 74 'z =8 50 |52 102 126.4 |1 75.6 || 124 =5 X 47 148 05 [16.8 | 78.2 ([174 |EA #nit 51 (58 109 |1 26.4 | 82.6
25 |/hMuEB B— 42 |47 89 |15.6 | 73.4 | 75 |5SE #FI=E 51 |51 102 126.4 | 75.6 |[125 |4 W 50 |51 101 [22.8 | 78.2 ||175 |ZB4R =ER b5 |54 109 |1 26.4 | 82.6
26 |hFT = 43 146 89 [15.6 | 73.4 | 76 |kO == 55 |53 108 132.4 | 75.6 |[126 |EinA F— 49 152 101 [22.8 | 78.2 [[176 |EAMBE #F0E 48 |54 102 119.2 | 82.8
27 |lL@E f%&— 41 |4 82 | 8.4 |73.6| 77 A% FHEz 46 |43 89 [13.2 | 75.8 ||127 |BAA {E— 50 |57 107 128.8 | 78.2 |[177 B Bl 50 |58 108 |1 25.2 | 82.8
28 |EH B 42 146 88 | 14.4 1 73.6 || 78 | KEAE KBE 40 149 89 [13.2175.8 |[128 |&FXK & 60 |53 113 [ 34.8 | 78.2 || 178 |2y EHBF 53 {50 103 119.2 | 83.8
29 (¥l B 50 |44 94 [20.4 |73.6 || 79 |EA HX=E 45 150 95 [19.2 1 75.8 |[129 |;EZE wHY) 49 |45 94 | 15.6 | 78.4 || 179 |l EF 57 (62 119 1 34.8 | 84.2
30 |[Baft ZEFE A A5 0(35 |40 75 1.2 [ 73.8 || 80 |#867 &E 50 |51 101 [25.2 [ 75.8 [|130 [#a K &FE 45 149 94 115.6 | 78.4 ||180 |F% HB 50 [55 105 120.4 | 84.6
31 Ay EKE 44 143 87 [13.2 | 73.8 | 81 RizF %= 42 146 88 [12.0 | 76.0 ||1131 [{EH =& 49 |51 100 1 21.6 | 78.4 |[181 |8 HEHK b1 (54 105 120.4 | 84.6
32 |BE B 47 146 93 119.2 |173.8| 82 |=£ T 50 {50 100 [24.0 | 76.0 [[132 |BA& BH— 50 (49 99 [20.4 178.6 (182 [TIN IE& 58 [55 113 127.6 | 85.4
33 |KPE IfF] 52 |53 105 131.2 | 73.8 || 83 | =EF 53 |59 112 136.0 | 76.0 |[133 |Hp #B— 45 |54 99 120.4 |178.6 ||183 |55 BA 64 |54 118 1 32.4 | 85.6
34 |HEF = 43 43 86 112.0 | 74.0 || 84 |BaH =& 43 |44 87 110.8 | 76.2 [[134 |K;ith R 48 (51 99 | 20.4 |78.6 ||184 |IlLE =i&EF 58 [62 | 120 | 33.6 | 86.4
35 |¥EH & 45 147 92 [ 18.0 | 74.0 || 85 [{+PE {EB 49 144 93 116.8 | 76.2 |[135 |k &5— 55 {50 105 [ 26.4 | 78.6 [[185 |#k IEBA 61 (45 106 | 16.8 | 89.2
36 |FEA EE 49 149 98 [24.0 | 74.0 || 86 |K#t 240 48 |45 93 116.8 | 76.2 |[136 |8 A#F0 45 (41 86 | 7.2 |78.8 (186 |fRIE IFFN 64 (66 | 130 | 37.2 [92.8
37 |llFE I 53 |51 104 [30.0 | 74.0 || 87 |hPE IE 48 |45 93 116.8 | 76.2 [|[137 |5R& &Lt 54 150 104 [ 25.2 | 78.8 [[187 |k(iZE HF 73 |60 133 139.6 | 93.4
38 |EH DY-F 42 143 85 (10.8 |174.2 || 88 |8 *x— 48 |51 99 122.8 |176.2 ||[138 | K 1& 44 (47 91 1 12.0 | 79.0 ||188 |t H— 63 |71 134 [ 40.0 |1 94.0
39 [KkB BB 42 143 85 [10.8 | 74.2 || 89 |28 {&1T 50 (49 99 122.8 |76.2 |[139 |&iE 1§ 45 146 91 112.0 | 79.0 [|189 |=A Ai# 75 |68 143 | 40. 0 | #ti
0 |8 FX 50 |47 97 [22.8 174.2 || 90 |B¥+ HB=E 49 |50 99 122.8 176.2 ||140 |BF EHERX 47 (44 91 [12.0 179.0

A1 |RRIEE SR 39 139 718 3.6 |74.4 | 91 |HE EA 47 151 98 [21.6 | 76.4 ([141 |hJIl Fiz 51 146 97 118.0179.0

42 |B4  FIBR 42 42 84 | 9.6 | 74.4 || 92 |$E%h 1E— 50 |54 | 104 [ 27.6 |76.4 (|142 (=@ [ 48 155 | 103 | 24.0 [ 79.0

43 |HEFM BiEX 44 146 90 [15.6 | 74.4 || 93 |&%F HE— 55 (49 104 [ 27.6 | 76.4 ||143 (&8 =RE 59 |56 115 136.0 | 79.0

44 |EE =B 45 145 90 [15.6 | 74.4 || 94 | KB IE=Z 45 |46 91 | 14.4 176.6 ||[144 |EZE HFT b8 |57 115 136.0 | 79.0

45 (f'H B— 45 151 96 [21.6 | 74.4 || 95 [LL4E * 45 |52 97 120.4 | 76.6 |[145 |FIw JLIE 45 |51 96 | 16.8 | 79.2

46 (12 Bt 47 149 96 [ 21.6 | 74.4 || 96 (lLO 2R 48 149 97 120.4 |176.6 |[146 |FEL —%t 46 143 89| 9.6 (79.4

47 |fE Rt 42 141 83 8.4 (74.6 || 97 [ EF 40 |44 84 | 7.2 |76.8 ||147 |@®)I =F 55 |52 107 1 27.6 | 79.4

18 |FE = 41 142 83 8.4 174.6 | 98 |5 1=7] 43 |47 90 | 13.2 | 76.8 ||148 |4& [EE 50 {50 100 1 20.4 |1 79.6

49 (AT 1E8A 43 140 83 8.4 74.6 | 99 A4 & 46 |50 96 [19.2 |1 76.8 |[149 |EH #+F 45 142 87 7.2 179.8

50 A%y BAE 49 140 89 |14.4 | 74.6 (100 |HfE 1 46 150 96 |1 19.2 | 76.8 [|150 5E& E 47 146 93 113.2 179.8




